STAR -STAR EGUIPMENT, LTD.

3 couement CONSTRUCTION EQUIPMENT & SUPPLIES
Sales Service Rentals

Schwing Obsolete Parts List
THIS LIST WAS GENERATED IN AUGUST 2022.
PLEASE CALL FOR PRICE AND CURRENT AVAILABILITY
JOHN ANDREAS AT 1-800-369-2215. WE CAN SHIP WORLDWIDE.

MFG Part # Description Qty Available
Schwing 02054677 REBUILD KIT, ACCUMULATOR HYDAC 1

Schwing 10000346 O-RING18.3X2.4

Schwing 10000501 O-RING 34 X 3 NBR 70

Schwing 10000511 O-RING 174 X3 NBR 70

Schwing 10000602 O-RING 200 X 10 NBR 70

Schwing 10000616 O-RING 214 X 5 NBR 80

Schwing 10000650 O-RING 240 X 3 NBR 70

Schwing 10000663 O-RING 265 X 5 NBR 70

Schwing 10000666 O-RING 270 X 3 NBR 70

Schwing 10000765 O-RING 60 X 5 NBR 70

Schwing 10000968 O-RING 78 X 4 NBR 70

Schwing 10001052 O-RING 94 X 3 NBR 70

Schwing 10001064 O-RING 105 X 3 NBR 70

Schwing 10001077 O-RING 110 X 5 NBR 70

Schwing 10001087 O-RING 115 X5 NBR 70

Schwing 10001250 NUT DIN 934 M 10-8-A2C

Schwing 10001295 SCREW DIN 931 M 30 X 150-8.8-A3C

Schwing 10001676 SCREW DIN 912 M 16 X110-12.9-GT500

Schwing 10001720 FITTING - HYD, CAP NUT, M 30 S

Schwing 10001732 FITTING - HYD, FERRULE P-R-16-S

Schwing 10002192 WMT - LOCK LEVER, WATER BOX - KVM ALL

NINITOININIRPIOININIRPINIPIOIN]IAR|IWIRIUVIRLININ

Schwing 10002329 SEAL - SCRAPER, 80 X 92.2X12 P6-80

Schwing 10002526 SEAL - 5-1/2" COUPLING - ALL KVM 50
Schwing 10002832 SPONGE - BALL, CLEAN-OUT, DN 125, SOFT 8
Schwing 10002838 SPONGE - BALL, CLEAN-OUT, DN 125, HARD, 3
Schwing 10003421 SEAL - GLAND SET, 80/100 X 40 E2-80/SM5- 3
Schwing 10004709 PLT - WEDGE, 16 MM C 60 6
Schwing 10004761 SEAL - DN 150, BF4005, 159 / 183 X 12, N 3
Schwing 10006283 SEAL - GASKET, D4.33/5.91" X 5/16" NEOPR 2
Schwing 10006354 RING RADIAL SEALING 80 / 100 X 13 BA 2
Schwing 10006587 COUPLING - SCREW-TYPE LOCK 5-1/2" PRIMED 1
Schwing 10006723 LOCK WASHER S 16 GT500 3
Schwing 10006826 O-RING 105 X 4 NBR 80 5
Schwing 10007018 COUPLING - LEVER STYLE 5-1/2" PRIMED 1
Schwing 10007047 PARTS - RING 12 BUEL 1
Schwing 10007149 ANNC- HORN, 12V WITH CONDENSER 1
Schwing 10008109 FITTING - HYD, GSS 12-L 3
Schwing 10008369 PIN - SAFETY, LEVER-TYPE LOCK COUPLING 17
Schwing 10009278 FITTING - HYD, WSS 30-S 2
Schwing 10009844 SCREW DIN 561 B M 8 X 20-8.8-A2C 2

Schwing 10010597 O-RING 120 X 5 NBR 80 1




STAR -STAR EGUIPMENT, LTD.

3 couement CONSTRUCTION EQUIPMENT & SUPPLIES
Sales Service Rentals

Schwing Obsolete Parts List
THIS LIST WAS GENERATED IN AUGUST 2022.
PLEASE CALL FOR PRICE AND CURRENT AVAILABILITY
JOHN ANDREAS AT 1-800-369-2215. WE CAN SHIP WORLDWIDE.

MFG Part # Description Qty Available
Schwing 10011849 SHAFT - COUPLER - HALF SECTION 1

Schwing 10012265 VALVE - WATER, SAFETY 3/4" NPT 3300-0001

Schwing 10012814 VALVE - HYD, PRESSURE LIMIT SHUTTLE

Schwing 10012911 PARTS - GLASS LEVEL INDICATOR - 127/M 12

Schwing 10013888 LOCKING BAR

Schwing 10015400 LOCK WASHER S 24 GT500

Schwing 10016241 O-RING 95 X 8 NBR 70

Schwing 10016664 O-RING 195 X 3 NBR 70

Schwing 10016665 O-RING 225 X 3 NBR 70

Schwing 10017436 O-RING 70 X 8 NBR 70

Schwing 10017517 SHEET - 0.3MM A30 SPACING DISC 101/159

Schwing 10017527 PARTS - BACK-RING PTFE D 112/120 X 2

Schwing 10018047 BUSHING - D 2.760" X 3.622" C932

Schwing 10018351 PARTS - BACK-RING D 117/125 X 2

Schwing 10021235 SEAL (NEW STYLE WATER BOX)

Schwing 10021810 FILTER - HYD, ELEMENT 852-126 SM 10

Schwing 10023825 PARTS - ROSETTE

Schwing 10029138 PUMPKIT - KIDNEY SEAL DN 180

Schwing 10035155 GEARBOX - COUPLING

Schwing 10035783 SEAL - GASKET, RING DN 250

Schwing 10037274 DEVICE - SOLENOID, VALVE 12V

Schwing 10037994 SPRING - GAS

Schwing 10043559 CLAMP - CUP TYPE, TENSION, DN 150, WEDGE

Schwing 10049957 HOSE - HYD, DN 20/4 X 650 - 350 BAR

Schwing 10054625 PARTS - LEVEL, 0-5 DEGREE BPL

Schwing 10061072 ASSY - AGITATOR BEARING DRIVE SIDE LH

Schwing 10061073 ASSY - AGITATOR BEARING RH

Schwing 10061074 ROD - BUSHING/BEARING (HOPPER)

NIWININIWIR|IN|IWIRIRPIROININININIAINIODWIWIWINITUOININ|FERW

Schwing 10061075 BAR - SHAFT, FLANGE HUB, AGITATOR LH (Q7

Schwing 10061076 SEAL - CONE 11
Schwing 10061078 BAR - MACHINED BUSHING 1
Schwing 10061080 BAR - ROUND, 4.528" 4140 FLANGE RH KVM 3
Schwing 10061082 BUSHING - 2.367" X 1.957" BRONZE 660 1
Schwing 10064472 SPRING - PRESSURE DN 210 4
Schwing 10065682 FITTING - HYD, ELBOW EWSD 30-S 7
Schwing 10065944 SEAL - RING BACK 130/122 X 2 (Q2E03) 2
Schwing 10072694 FILTER - HYD, ELEMENT HC 9800 FCT 8H 1
Schwing 10073397 FILTER - HYD, ELEMENT HC 9600 FCN 13H 2
Schwing 10075867 PARTS - CARRYING STRAP KVM 1
Schwing 10107147 SPONGE - BALL, CLEAN-OUT, DN 125, MEDIUM 1
Schwing 10124216 O-RING 75.87 X 2.62 NBR 70 6




STAR -STAR EGUIPMENT, LTD.

3 couement CONSTRUCTION EQUIPMENT & SUPPLIES
Sales Service Rentals

Schwing Obsolete Parts List
THIS LIST WAS GENERATED IN AUGUST 2022.
PLEASE CALL FOR PRICE AND CURRENT AVAILABILITY
JOHN ANDREAS AT 1-800-369-2215. WE CAN SHIP WORLDWIDE.

MFG Part # Description Qty Available
Schwing 10131079 O-RING 102 X 4 NBR 80 1

Schwing 10153170 VALVE - CARTRIDGE DBDS 6K1X/310 310 BAR

Schwing 10160911 VALVE - HYD, CARTRIDGE 24V

Schwing 10161634 RAM - FLANGE STYLE DN 230

Schwing 10161980 RAM - FLANGE STYLE DN 250

Schwing 10162469 OPER - LIMIT SWITCH (Q3A02)

Schwing 10164173 SHEET - 0.3MM ST DISC SPACING 106/179

Schwing 10164399 PUMP - WATER, ROLLER 80 LTR/20 BAR

Schwing 10166677 SHAFT - KVM 45SX

Schwing 10166975 PARTS - SPRING PRESSURE DN 230 RUBBER

Schwing 10170699 PARTS - BUFFER SINGLE STUD M10 X 28, 68

Schwing 10173517 VALVE - HYDRAULIC, CARTRIDGE, PULSAR PRO

Schwing 10173758 ASSY - SEAL SET FOR INSERT VALVE NG

Schwing 10181917 SPRING - RUBBER W/FABRIC INLAY ROCK VALV

Schwing 10183050 GUIDE STRIP AD 110 X 2.5 X 15

Schwing 10185852 VALVE - WATER, BALLR 1 1/2", (Q7A02)

Schwing 10189817 FILTER - HYDRAULIC, ELEMENT, FOR FILTER

Schwing 10190053 BEARING - ROLLER, SUPPORTING NUTR 3580 A

Schwing 10190069 PIN - BEARING (Q7A02)

Schwing 10190588 FILTER - HYD, ELEMENT HC 9404 CN 16H

Schwing 10195333 BALLCOCK G 3/4" IA

NI INIRIN|IPRIN|IPIINNR ORI IRPOIRIRIPAIN]E-

Schwing 10197592 VALVE - CARTRIDGE, HYDRAULICALLY UNLOCKA

Schwing 10200242 FITTING - SCREW JOINT M 10 X 1K 16
Schwing 10200243 TUBE SOCKET 6 [NWA4] VS - STRAIGHT 7
Schwing 10206184 SEAL - HYD DN 180 BF 2
Schwing 10206185 SEAL - HYD DN 150 BF 164/180 X 12 2
Schwing 10210112 SEAL - HYD PISTON ROD 70/80 X 11.8 HALLI 1
Schwing 10210115 BACK-UP RING 75,8 X 70X 1,5 2
Schwing 10213466 ASSY - LIMIT SWITCH CPL W/SWITCH 1013870 1
Schwing 10216097 PARTS - SNAP FASTENER 2
Schwing 10304502 OPER - PUSH-BUTTON HOUSING E-STOP CPL 2
Schwing 30301745 ASSY - WATER PUMP 1
Schwing 30302563 SOLENOID 12V CONTINOUS DUTY COLE 1
Schwing 30302838 SEAL - KIT 3430-0163 1
Schwing 30303823 SCREW DIN 931 M 6 X 55-8.8-A2C 8
Schwing 30304487 DOOR - LOCK,ALH1MLSS(USES KEY #30305038) 1
Schwing 30307402 CLAMP - BASE PLT, STAUFF, 1/2" X 2 PLACE 2
Schwing 30307545 CLAMP - STAUFF, PLASTIC 1/2" (12MM) 1A/ 9
Schwing 30318961 FILTER - HYD, ELEMENT 2
Schwing 30324217 OPER - SWITCH, TOGGLE ON*/OFF/ON* 1 POLE 2
Schwing 30325549 PARTS - SEAL KIT BUNA N FULL SET 1




STAR -STAR EGUIPMENT, LTD.

3 couement CONSTRUCTION EQUIPMENT & SUPPLIES
Sales Service Rentals

Schwing Obsolete Parts List
THIS LIST WAS GENERATED IN AUGUST 2022.
PLEASE CALL FOR PRICE AND CURRENT AVAILABILITY
JOHN ANDREAS AT 1-800-369-2215. WE CAN SHIP WORLDWIDE.

MFG Part # Description Qty Available
Schwing 30330468 FILTER HYD ELEMENT BREATHER 2

Schwing 30339765 FITTING HYD NG SWIVEL 1/4" X 1/8 BSP

Schwing 30343397 BATTERY - MAKITA BATTERY 9.6V

Schwing 30346402 HANDLE SHAFT KIT

Schwing 30350477 O-RING 88.57 X 2.62 NBR 80

Schwing 30350926 OPER - SENSOR, PROXIMITY W/6" CABLE

Schwing 30353819 PARTS - SEAL RADIAL 100 X 120 X 12

Schwing 30355768 SHAFT - COUPLING ASSEMBLY

Schwing 30369550 VALVE PNEUMATIC, AIR CUFF 12-VOLT - 1/4"

Schwing 30370278 KIT - E-STOP CONVERSION FROM 30341049

Schwing 30380857 FILTER - HYD (REPLACEMENT ON 30381961)

Schwing 30390588 TUBE - 16MM X 2.5MM W SLEEVE TRAPDOOR

Schwing 30394990 INST-OIL LVL INDICATOR W. THERMOMETER

Schwing 40017671 PARTS - GUIDE Rpls 40016894

Schwing 40017760 SEALKIT, 200/140 X 1620, KVM 39X #2 BOO

Schwing 98318544 WIPERRING70X 78X 7 X4

Schwing 98323628 SHUT-OFF FLAP 2"

Schwing 98330519 FILTER ELEMENT FOR TANK BREATHER

Schwing 98332590 CYLINDER SEALING 110 X 96 X 22.5/32.9

Schwing 98332592 BACK-UP RING 110 X 103.8X 2

Schwing 98333014 FILTER ELEMENT 0570 5u

Schwing 98333015 FILTER 350 BAR 10p

Schwing 98333016 FILTER ELEMENT

Schwing 98334096 CLOGGING INDICATOR

Schwing 98344669 SIDE MARKER LAMP 12V RED

Schwing 98347768 FIXED DISPLACEMENT MOTOR 16 CCM/U

Schwing 98351604 PUSHBUTTON, BLEU, 22.5MM

Schwing 98357650 HOSE HIGH PRESSURE NW 4 AUTOGREASER

Schwing 98375524 VALVE PNEUMATIC, AIR CUFF 24-VOLT - 1/4"

Schwing 98380243 FILTER ELEMENT 5 pM

Schwing 98381328 ELEC. PROXIMITY SWITCH - PRE ASSEMBLY

Schwing 98384265 RECHARGEABLE BATTERY SC30 7,2VDC/ 3300MA

Schwing 98398014 SEAL

Schwing 98407873 REGULATOR, 1/4" PIPE, 5-60 PSI

Schwing 98432566 SEALING SET

Schwing 98440125 PRESSURE SENSOR

alalrlr|rrRr]Ia(NM]oRIRINMIRININIRIRRINIRIRINM]OIR R, INRRlw] RN WM

Schwing 98471807 SEALING CONE NON-STK




